q Trays metaksan metaksan

50 Left Reducer Connection (set) Barrier Strip 1
Side Height Pargall Reduksiyon (Sol)

Seperator 1 Side Height

RZ T ) = =

Model Reduction  Plate Thick. ‘Weight "Order Code ‘Order Code

ey Number (A) (mm) (M) (mm) kg/pcs” PQ) (HDG)"

RL 504 15 40 1,50 0318 802050040 151 8020 50 040 15 2 W T @ g- Er
RL 505 156 50 1,50 0324 802050080 15 1 8020 50 050 16 2 Model Width  Plate Thick.  "Weight ‘Order Code ‘Order
RL506 15 60 150 0830 802050060151 8020 50 060 15 2 T e Number (W) (mm) — (T) (mm)  kg/pos oy (HOGY
RL 508 15 80 1,50 0341 802050080 161 8020 50 080 15 2 SEP 150 10 15 1,00 0510 811150 000 10 1
RL 510 15 100 1,50 0858 802050100 161 8020 50 100 15 2 o SEP 150 12 5 1,20 0612 811150000121 811150 000 12 2
RL 515 15 150 160 0,383 8020 60 150 151 8020 50 150 15 2 ] SEP 150 15 15 150 0,765 811150000 151 811150 000 15 2

W RL 520 15 200 150 0412 802050200 151 8020 50 200 15 2 L—L< SEP 150 20 5 2,00 1,021 81116000020 1 811150 000 20 2
RL 530 15 300 1,50 0471 802050300 151 8020 50 300 15 2
RL 540 15 400 150 0530 802050400 151 8020 50 400 15 2
RL 550 15 500 1,50 0589 802050500 151 8020 50 500 15 2

‘Used with 8 sets of CS M8 -Bolt & Nufs AMoter\o\ & Finish Options: AUSed with CS M8 -Bolt & Nuts AMaTerio\ & Finish Options:
each Ee fbe 38 BG HDG SS
Right Reducer Connection (set) Barrier Strip 2
Parcal Reduksiyon (Sag) Seperator 2

-
R=<C T O = =
Model Reduction  Flate Thick,  "Weight "Order Code "Order Code
Nurmber (A (mm) (M) (mm) kg/pcs PG) (HDG)"
RG 504 15 40 150 0318 803050040 151 8030 50 040 15 2 W -I- @ g‘ E"
RG 505 15 50 1,50 0,324 803050080 151 8030 50 050 16 2 . . ; o
Model Width Plate Thick Weight Order Code Order Code
RG 506 15 60 1,50 0830 803050060 15 1 8030 50 080 16 2 T - Number (W) mm)  (T) (mm) Kkg/ocs” PG HDG)"
RG 508 15 80 1,50 0341 803050080151 8030 50 080 15 2
SEP 250 10 15 1,00 0589 8112 50 000 10 1
RG 510 15 100 1,50 0353 803050100151 8030 50 100 15 2 H
RG 515 15 150 150 0383 803050 150 161 8030 50 150 15 2 SEP 250 12 = 1.20 07078 5112 50 000121 S{i=ib0lecoNe 2
RG 520 15 200 1,50 0412 803050200151 8030 50 200 15 2 1B - SER Ay i i 0 Qe GHEEYEI0 i L= ED ey {6
RG 53015 300 150 0471 803050300 161 8030 50 300 16 2 SEP 250 20 = 2.00 1178 _[RgBllaS0 000 20 1 JSI12IS0lNC0l20
RG 540 15 400 1,50 0530 803050400 151 8030 50 400 16 2
RG 550 15 500 1,50 0589 803050500 15 1 8030 50 500 16 2
‘Used with 8 sets of CS M8 -Bolt & Nuts Material & Finish Options: Used with CS M8 -Bolt & Nuts Material & Finish Options:

soch o DG 88 s oG



